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Question Id : 68634013769 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
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Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634013770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR & SIYR WX 53 ardi fial Ao &1 [y [den & Fae ©
1. R

2. gR&xH
3. 9y
4. BEHl

Options :

68634054401. 1
68634054402. 2
68634054403. 3
68634054404. 4

Question Number : 2 Question Id : 68634013771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054405. 1
68634054406. 2
68634054407. 3
68634054408. 4

Question Number : 3 Question Id : 68634013772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634054410. 2
68634054411. 3
68634054412. 4

Question Number : 4 Question Id : 68634013773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634054414. 2
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Question Number : 5 Question Id : 68634013774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054417. 1
68634054418. 2
68634054419. 3
68634054420. 4

Question Id : 68634013769 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634013770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR & SIYR WX 53 ardi fial Ao &1 [y [den & Fae ©
1. R

2. gR&xH
3. 9y
4. BEHl

Options :

68634054401. 1
68634054402. 2
68634054403. 3
68634054404. 4

Question Number : 2 Question Id : 68634013771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634054406. 2
68634054407. 3
68634054408. 4

Question Number : 3 Question Id : 68634013772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054409. 1
68634054410. 2
68634054411. 3
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Question Number : 4 Question Id : 68634013773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054413. 1
68634054414. 2

68634054415. 3
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Question Number : 5 Question Id : 68634013774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634054417. 1
68634054418. 2
68634054419. 3
68634054420. 4

Sub-Section Number : 2
Sub-Section Id : 686340448
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054421. 1
68634054422. 2
68634054423. 3
68634054424. 4

Question Number : 6 Question Id : 68634013775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054421. 1
68634054422. 2
68634054423. 3
68634054424, 4

Question Number : 7 Question Id : 68634013776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 7 Question Id : 68634013776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634054428. 4

Question Number : 8 Question Id : 68634013777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054429. 1

68634054430. 2

68634054431. 3
68634054432. 4

Question Number : 8 Question Id : 68634013777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 68634013778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054433. 1
68634054434. 2
68634054435. 3
68634054436. 4

Question Number : 9 Question Id : 68634013778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054433, 1
68634054434. 2
68634054435. 3
68634054436. 4

Question Number : 10 Question Id : 68634013779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. §9d
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4. 99d

Options :



68634054437. 1
68634054438. 2
68634054439. 3
68634054440. 4

Question Number : 10 Question Id : 68634013779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054437. 1
68634054438. 2
68634054439. 3
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Question Number : 11 Question Id : 68634013780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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21
Options :
68634054441. 1
68634054442 2
68634054443. 3
68634054444, 4

Question Number : 11 Question Id : 68634013780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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68634054441. 1
68634054442. 2
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Question Number : 12 Question Id : 68634013781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 12 Question Id : 68634013781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634013782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634013782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054450. 2
68634054451.3
68634054452 4

Question Number : 14 Question Id : 68634013783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 14 Question Id : 68634013783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634013784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054457. 1
68634054458. 2
68634054459. 3
68634054460. 4

Question Number : 15 Question Id : 68634013784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634013785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054461. 1
68634054462. 2
68634054463. 3
68634054464. 4

Question Number : 16 Question Id : 68634013785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054461. 1
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Question Number : 17 Question Id : 68634013786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054465. 1
68634054466. 2
68634054467. 3
68634054468. 4



Question Number : 17 Question Id : 68634013786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054465. 1
68634054466. 2
68634054467. 3
68634054468. 4

Question Number : 18 Question Id : 68634013787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054469. 1
68634054470. 2
68634054471. 3
68634054472. 4

Question Number : 18 Question Id : 68634013787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634013788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054473. 1
68634054474. 2
68634054475. 3
68634054476. 4

Question Number : 19 Question Id : 68634013788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054474. 2
68634054475. 3
68634054476. 4

Question Number : 20 Question Id : 68634013789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054477. 1
68634054478. 2
68634054479. 3
68634054480. 4

Question Number : 20 Question Id : 68634013789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o T 9 0 Ta9 ol o i & STl R a1 ol 98 § 2

A. T, 9R, SORTE
B. GTE0fd, 3Tef, Tt

C. TR, e, Tul

D. URAR, 9fd. gal

E. 99, 9w, fad

At fau U faw eyl O 9 Tel ST &1 99 By ;

1. HATA.B. C
2.%dd B.C.D
3.%ad C.D.E
4.%ad B.D.E

Options :

68634054477. 1
68634054478. 2
68634054479. 3
68634054480. 4

Question Number : 21 Question Id : 68634013790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& IR &1 98 HegUT e d e YRd §R1 814 of H X180 {61 7. § -
1. gdiI
DAY
faer-1
4, A1
Options :
68634054481, 1
68634054482. 2

68634054483. 3
68634054484. 4

[

L]



Question Number : 21 Question Id : 68634013790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y&H IR &1 98 V&Yl e d e YRd §R181d of H I8 fa1 4. § -
1. gl
RS i AY
3. foE-I1
4. Hig-1
Options :
68634054481. 1
68634054482. 2

68634054483. 3
68634054484. 4

| )

Question Number : 22 Question Id : 68634013791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hfaiad & I fog I o aa Tl 3R Al Wmﬁ e (Land of Red River and Blue Hills) E
SRIEEN IR IESIG] % ?

1. AHH

e
TR

4. SBUMA UGl

| )

L

Options :

68634054485. 1
68634054486. 2
68634054487. 3
68634054488. 4

Question Number : 22 Question Id : 68634013791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Hfaiad & I fog I o aa Tl 3R Al Wmﬁ e (Land of Red River and Blue Hills) E
SRIEEN IR IESIG] % ?

1. 399
Tfewn

 HOgR

4. DU UGQ

[

L]

Options :

68634054485. 1
68634054486. 2
68634054487. 3
68634054488. 4

Question Number : 23 Question Id : 68634013792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d IUYYH T D1 A S e a1g T YRd & Uy W gU o
1. dio dlo fiig
ORI &8
gdist
. ATe S8TgR Tl

| )

[#5]

=

Options :

68634054489. 1
68634054490. 2
68634054491. 3
68634054492. 4

Question Number : 23 Question Id : 68634013792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d I9-Hy™ T B9 4 9 & 916 I YRd & wuH HH g 2
1. dto dlo f3ig

ORI &HTg

SdTrST

. ATd SETGR Tl

[ ]

L]

=S

Options :

68634054489. 1
68634054490. 2
68634054491. 3
68634054492. 4

Question Number : 24 Question Id : 68634013793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad ¥ ¥ ®H I odg-UeaR d@-1d Jored Ied § &F § @6 ol 8 ?

1. PEN
. @liery

3.dIe

[

4. JAlglTy

Options :

68634054493. 1
68634054494. 2
68634054495. 3
68634054496. 4

Question Number : 24 Question Id : 68634013793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgfafaa § 9 oF 9 Ta-02eR de-id e[ Ied § S H 6 ol 8 2

1. DN
e

| )

Options :



68634054493. 1
68634054494. 2
68634054495. 3
68634054496. 4

Question Number : 25 Question Id : 68634013794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ﬁfgﬁﬂfﬂﬂ’f@ﬁ (Khelo India Youth Games) :
A. IR TR TR 5 Wil 51891 Wpal Ta & =719 Y ST i1l 41 3R &1 Hawl 7 Gei oird & o
Ted 17 74 ®1 31 9 H. Thal OF 3R 21 T4 Y HH 3G B Hlcisl & O |
B. Wall S1SU1 gaT Wl &l YAy Hag 1 & SR TeRIY - Wal 5hsdm gy 719 2023 Sl
C. §RaTom Uyw Iy YT forg= Wl Sfear gy T Sifdn
D. Wail $F$T1 gy 71T 2023 i  §U9 50|
frd fau g faweal ® 9 el TR &1 99 Sifv/ -
1. $ad B, C 3R D
2. Had A, C 3R D
3. ®ad A B 3RD

4. HBAAA.BARC

Options :

68634054497. 1
68634054498. 2
68634054499. 3
68634054500. 4

Question Number : 25 Question Id : 68634013794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dal E-%Uf g4I W (Khelo India Youth Games) :

A AR IR R 5% Tl S(od1 Wd Td & A1 I SH1 ofrdT o7 3R & Ja7 3 | 9 & o
T5d 17 79 B 314 9 HH. Thal OH 3R 21 T4 Y HH 1Y S Hids & O |

B. Wall S1SU1 ga1 Wl &1 YAy Hag | & R TeRIY - Wall 5fsdm gy 719 2023 St

C. gRATon Uyn Iy U1 forg- Gl Sfear g T Sifdn

D. Wil SF$T1 g 711 2023 i § §U= g0 |

e fau e fawedt & ¥ Tel SR o1 90 Siford -
1. %ad B, C IR D
2.%ad A. C 3R D
3.%ad A. B 3R D
4. Pad A. B3R C

Options :

68634054497. 1
68634054498. 2
68634054499. 3
68634054500. 4

Part B: Agricultural Science

Section Id : 686340274
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340449
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634013795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The National Food Security Mission was launched in which year.

1.1999

[ ]

. 2002
3. 2007
4, 2016
Options :
68634054501. 1
68634054502. 2

68634054503. 3
68634054504. 4

Question Number : 26 Question Id : 68634013795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST @i gRef e ay T yRe far o

11989

|

. 2002
3. 2007
4. 2016
Options :
68634054501. 1
68634054502. 2

68634054503. 3
68634054504. 4

Question Number : 27 Question Id : 68634013796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Pureline varieng is mostly
1. Homozygous and homogencous
2. Homozygous and heterogeneous
3. Heterozygous and homogeneous
4, Heterozygous and heterogensous
Options :

68634054505. 1
68634054506. 2



68634054507. 3
68634054508. 4

Question Number : 27 Question Id : 68634013796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FRATS ol gid: Bl g |

 GHISTZT Td gHtsi

 BIEISITS Y Ud glol -1y

. BEISIETTE U4 B

iy

. BCIog ™ Ud gelui-d

oy

| )

LFN]

=Y

Options :

68634054505. 1
68634054506. 2
68634054507. 3
68634054508. 4

Question Number : 28 Question Id : 68634013797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the range of visible part of the spectrum tfor photo synthetically active radiations?

1. 400-700 mum

[ )

. 700-1000 nm
3.1000-1300 nm

4, 1300-1700 nm

Options :

68634054509. 1
68634054510. 2
68634054511. 3
68634054512. 4

Question Number : 28 Question Id : 68634013797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BRI Hishy fafeur o1 exgdl 8q WagH 36 F1 el 6|
1. 400-700 nm
2. 700-1000 nm
3.1000-1300 nm

4. 1300-1700 nm

Options :

68634054509. 1
68634054510. 2
68634054511. 3
68634054512. 4

Question Number : 29 Question Id : 68634013798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Radio as mass medium is characterized by

1. One way with immediate feed back

[

. One way without instant audience response

T

. Two way with feed back
4. One way and lime less

Options :

68634054513. 1
68634054514. 2
68634054515. 3
68634054516. 4

Question Number : 29 Question Id : 68634013798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 P U THE YR H1e0H & =0 1 aivld Sl -

1. U U @iid Y41d gRI

2. T Uiy 81 aivd g1d gR1
3. fgmelta g=ma & |y

4. U yeia ud Tg Mg

Options :
68634054513. 1



68634054514. 2
68634054515.3
68634054516. 4

Question Number : 30 Question Id : 68634013799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Remote sensing helps in studying of -
1. Cropped area estimation
2. Fertilizer requirement
3. Pesticide requirement
4. Bio-fertilizer
Options :
68634054517. 1
68634054518. 2

68634054519. 3
68634054520. 4

Question Number : 30 Question Id : 68634013799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fyrite SR &1 Siegg g B

1. Bd AR d HhaA

AP B HIGFHAl B HTH

[

 PICATES B ATGIIDB Al BT b

4. STATHIEATZOR &1 JidH e

Options :

68634054517. 1
68634054518. 2
68634054519. 3
68634054520. 4

L]

Question Number : 31 Question Id : 68634013800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is responsible for nitrogen fixation in soybean?

1. Rhizobium phaseoli

[

. Rhizobium glycium

L]

. Rhizobium japonicum
4. Rhizobium leguminoserum

Options :

68634054521. 1
68634054522 2
68634054523. 3
68634054524. 4

Question Number : 31 Question Id : 68634013800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefafad & S e[ § e [RRieR g e g

1. AESlliegy B!
2. AoilfagH g ikEy
3. AgWIfegd wuifaea
4. JESETH SRR

Options :

68634054521. 1

68634054522. 2

68634054523. 3
68634054524. 4

Question Number : 32 Question Id : 68634013801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Relay cropping means...

1. Growing of more than one crop on same land in a year

(B

. Growing of three crops in the same land in a year

3. Growing of four crops in the same land in a year in such a manner that the following crops is sown
before the harvesting of previous crop

4. Growing of crops on the angle

Options :



68634054525. 1
68634054526. 2
68634054527. 3
68634054528. 4

Question Number : 32 Question Id : 68634013801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ BOd UG &1 o §

—

T 94 ¥ U% Wd R U &l Bad I

| )

TP ¥ § U |d T dF BId I

TS Wd ¥ U a8 § IR Bl $l 28 YbR SIH] [orl B i helg & Ud of gas] BId o'l al
i

(5]

R G R (GRS CACRI Il

=

Options :

68634054525. 1
68634054526. 2
68634054527. 3
68634054528. 4

Question Number : 33 Question Id : 68634013802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rice variety 'Gaurt' is resistant against
1. Stem - borer
2. Brown plant hopper
3. Green leaf hopper

4, Gall midge

Options :

68634054529. 1
68634054530. 2
68634054531. 3
68634054532. 4

Question Number : 33 Question Id : 68634013802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT &1 UeTITa TR wfaie 21

1. gEYS & Ufd
2. YT @le g
3. B Ul BT
4. 79 fis

Options :

68634054529. 1

68634054530. 2

68634054531. 3
68634054532. 4

Question Number : 34 Question Id : 68634013803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a measure of dispersion ?
1. Mode
2. Standard deviation
3. Mean deviation
4. Variance
Options :
68634054533. 1
68634054534.2

68634054535. 3
68634054536. 4

Question Number : 34 Question Id : 68634013803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=fafaa O oF W fsugd &1 fafy 38 &2
1. 1S
XUSS SAuRH
 HiH sfaweH
4, 3T

Options :
68634054533. 1

| )

[#%]



68634054534. 2
68634054535.3
68634054536. 4

Question Number : 35 Question Id : 68634013804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The value of correlation coefficient should -
1. be less than - 1
2. be more than + 1
3. be between -1 and +1

4. be between 0 and 1

Options :

68634054537. 1
68634054538. 2
68634054539. 3
68634054540. 4

Question Number : 35 Question Id : 68634013804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PINAT PINBRICCHI G BE BT =6l
1.-19$H
2. +1 Y 1El
3.-1 3R +1 HF O
4.0 3R 1% T

Options :

68634054537. 1
68634054538. 2
68634054539. 3
68634054540. 4

Question Number : 36 Question Id : 68634013805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bordeaux mixture was discovered by

1. Prevost

b2

. Debary
3. Tillet
4, Millordet

Options :

68634054541. 1
68634054542. 2
68634054543. 3
68634054544. 4

Question Number : 36 Question Id : 68634013805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘gref =R & Gioddl o

1. foae
2. St
3. fedie
4. firarsSe

Options :

68634054541. 1

68634054542. 2

68634054543. 3
68634054544. 4

Question Number : 37 Question Id : 68634013806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s used for berry elongation in grapes?

1. Cytokinin

[ )

. Auxin
3. Gibberelic acid
4. Ethylene

Options :
68634054545. 1



68634054546. 2
68634054547.3
68634054548. 4

Question Number : 37 Question Id : 68634013806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ry & Rt Wi SR & 94 1 PR 9 & Rvar s &2
1. Hrseidei-A
31T
forsRfas thrs
4. ST

Options :

68634054545. 1
68634054546. 2
68634054547. 3
68634054548. 4

[

L]

Question Number : 38 Question Id : 68634013807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All whether phenomenon like clouds. fog. dew. mist. rain etc. occur in which layer of atmosphere ?

1. Mesosphere

b2

. Stratosphere
3. Troposphere
4. Thermosphere

Options :

68634054549. 1
68634054550. 2
68634054551. 3
68634054552. 4

Question Number : 38 Question Id : 68634013807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T & 94 UeR o1 9. Siew. 2fid. 1w 3nfe arderu & fPa TR H siare?

}

4. UATfEFOR

Options :

68634054549. 1
68634054550. 2
68634054551. 3
68634054552. 4

Question Number : 39 Question Id : 68634013808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following pigment is responsible for pink colouration in Rhizobium ?

1. Lycopene

| )

. Leghaemoglobin
3. Haemoglobin
4. Delpidine
Options :
68634054553. 1
68634054554. 2

68634054555.3
68634054556. 4

Question Number : 39 Question Id : 68634013808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freffEd o 9 o 91 iwe Agwiiegy 3 e 31 @ oy orier siar g2
1. ABHIUA
BEEERICE]
RSEIESIICE]
4. Sedifs

Options :
68634054553. 1

| )

L



68634054554. 2
68634054555.3
68634054556. 4

Question Number : 40 Question Id : 68634013809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Somaclonal variation mainly arises from....
1. Grafting
2. Budding
3. Air-layering
4. Tissue culture
Options :
68634054557. 1
68634054558. 2

68634054559. 3
68634054560. 4

Question Number : 40 Question Id : 68634013809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qHTER A dRUSH &d- 9ae gidl o
1. 0T gIRT
S gRI
TR TR R

[

L]

=

feg deR gr

Options :

68634054557. 1
68634054558. 2
68634054559. 3
68634054560. 4

Question Number : 41 Question Id : 68634013810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following micro organism is responsible for bacterial rot during storage of carrots and potatoes?

—

. Diplodia sp.

[

. Polyporus sp.

L]

. Sclerotinia laxa.
4. Pseudomonas sp.

Options :

68634054561. 1

68634054562. 2

68634054563. 3
68634054564. 4

Question Number : 41 Question Id : 68634013810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ry & P a1 gereiia TR 3R ST & HUSRY 39 ot & dgeRa de &g Rrder g e
1 fwifear &
gefTRg @

| )

Ty Th h ™

 TpoRICHaT weg

[#5]

Options :

68634054561. 1
68634054562. 2
68634054563. 3
68634054564. 4

Question Number : 42 Question Id : 68634013811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s longest phase in mitosis ?

1. Anaphase

[ )

. Metaphase

Lad

. Prophase
4. Telophase

Options :
68634054565. 1



68634054566. 2
68634054567. 3
68634054568. 4

Question Number : 42 Question Id : 68634013811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R § o1 91 B A5y [GUTSH &1 98y a5l %ol aldl 67

1. TS

 HeThl

eI
4. THIpl

Options :

68634054565. 1

68634054566. 2

68634054567. 3
68634054568. 4

[ ]

L]

Question Number : 43 Question Id : 68634013812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Site for protein synthesis in a cell 1s

1. Ribosome

[

. Endoplasmic reticulum

L]

. Chloroplasts
4. Mitochondria

Options :

68634054569. 1
68634054570. 2
68634054571. 3
68634054572. 4

Question Number : 43 Question Id : 68634013812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & s Ao R FTRHE B
1. EEHH

 USTIHeD Yepe

 FARIEE

4. HlgcI@Ial

Options :

68634054569. 1
68634054570. 2
68634054571. 3
68634054572. 4

[

L]

Question Number : 44 Question Id : 68634013813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of following known as fruit ripening hormone?

1. Auxin

[

. Cytokinin
3. Gibberellins
4. Ethylene

Options :

68634054573. 1
68634054574. 2
68634054575. 3
68634054576. 4

Question Number : 44 Question Id : 68634013813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634054573. 1
68634054574. 2
68634054575. 3
68634054576. 4

Question Number : 45 Question Id : 68634013814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Dark reaction of photo- synthesis occurs in

1. Grana

(B

. Stroma
3. Ribosomes
4, Golgi bodies

Options :

68634054577. 1
68634054578. 2
68634054579. 3
68634054580. 4

Question Number : 45 Question Id : 68634013814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054577. 1

68634054578. 2

68634054579. 3
68634054580. 4
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Question Number : 46 Question Id : 68634013815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soil water considered as available water which generally held at pressure

1.0.1 to 0.2 bars

[ B

.—0.3 to =15 bars
3.>=15 bars
4. 30 bars

Options :

68634054581. 1
68634054582. 2
68634054583. 3
68634054584. 4

Question Number : 46 Question Id : 68634013815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tar § SufRyd 9 gdld UR FIHIC: ST 4 SUds od §idl 6|

1.0.1 9 0.2 bars
2.-0.3H —15 bars
3.> 15.0 bars
4. 30.0 bars

Options :

68634054581. 1

68634054582. 2

68634054583. 3
68634054584. 4

Question Number : 47 Question Id : 68634013816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil aeration refers to

—_

. Drying of soil due to air movement

[ )

. Flow of air over soil surface

3. Release of gases from soil due to microbial activities

4. Exchange of oxygen and CO, between soil pore space and atmosphere
Options :

68634054585. 1
68634054586. 2



68634054587. 3
68634054588. 4

Question Number : 47 Question Id : 68634013816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054585. 1
68634054586. 2
68634054587. 3
68634054588. 4

Question Number : 48 Question Id : 68634013817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following mineral imparts yellow colour in soil ?

1. Titamin

[ )

. Haematite
3. Limonite
4. Silica

Options :

68634054589. 1
68634054590. 2
68634054591. 3
68634054592. 4

Question Number : 48 Question Id : 68634013817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054589. 1
68634054590. 2

68634054591. 3
68634054592. 4
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Question Number : 49 Question Id : 68634013818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Immobilization refers to -

1. Conversion of organic N to inorganic form

[ )

. Conversion of morganic N to organic form

Lad

. Fixation by clay
4. Accumulation by plant
Options :
68634054593. 1
68634054594. 2

68634054595. 3
68634054596. 4

Question Number : 49 Question Id : 68634013818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054593. 1



68634054594. 2
68634054595. 3
68634054596. 4

Question Number : 50 Question Id : 68634013819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The fruit having highest amount of Carotone is -
1. Papaya
2. Pineapple
3. Mango
4. Apple
Options :
68634054597. 1
68634054598. 2

68634054599. 3
68634054600. 4

Question Number : 50 Question Id : 68634013819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054597. 1
68634054598. 2
68634054599. 3
68634054600. 4

Question Number : 51 Question Id : 68634013820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of following is one of the proven technique for virus elimination in plant multiplication?

1. Shoot tip culture

[

. Grafting
3. Leaf culture
4. Nodal segment culture

Options :

68634054601. 1
68634054602. 2
68634054603. 3
68634054604. 4

Question Number : 51 Question Id : 68634013820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054601. 1
68634054602. 2

68634054603. 3
68634054604. 4
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Question Number : 52 Question Id : 68634013821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s the oldest method for preservation of food?
1. Blanching
2. Canning and bottling
3. Carbonation

4. Sun drying

Options :
68634054605. 1



68634054606. 2
68634054607. 3
68634054608. 4

Question Number : 52 Question Id : 68634013821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054605. 1

68634054606. 2

68634054607. 3
68634054608. 4
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Question Number : 53 Question Id : 68634013822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The grapefruit is botanically known as .....

1. Vitis vinifera

| B

. Citrus paradisi
3. Citrus sinensis

4. Vitis labrusca

Options :

68634054609. 1
68634054610. 2
68634054611. 3
68634054612. 4

Question Number : 53 Question Id : 68634013822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054609. 1

68634054610. 2

68634054611. 3
68634054612. 4
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Question Number : 54 Question Id : 68634013823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An ideal fruit for making jelly should be rich in -
1. Pectin and sugars
2. Acids and protem
3. Sugar and acid
4, Pectin and acid
Options :
68634054613. 1
68634054614. 2

68634054615. 3
68634054616. 4

Question Number : 54 Question Id : 68634013823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054613. 1
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68634054614. 2
68634054615. 3
68634054616. 4

Question Number : 55 Question Id : 68634013824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Black tip of mango is a physiological disorder which orcur's due to....

1. Chloride toxicity

b2

. Carbon monooxide
3. Deficiency of Mg
4. Excess of Boron

Options :

68634054617. 1
68634054618. 2
68634054619. 3
68634054620. 4

Question Number : 55 Question Id : 68634013824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T H BF a1 afe® [0PR &Hicy [Fad FRU S 82
1. WIRISS P TIFHIRe!
2. BIa HHIFESS
3. Mg @1 @HI
4. Bo @I Sl

Options :

68634054617. 1
68634054618. 2
68634054619. 3
68634054620. 4

Question Number : 56 Question Id : 68634013825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following caste of honey bee has minimum life span ?

1. Worker

[ ]

. Helper

L]

. Queen

4, Drone

Options :

68634054621. 1
68634054622. 2
68634054623. 3
68634054624. 4

Question Number : 56 Question Id : 68634013825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054621. 1
68634054622. 2
68634054623. 3
68634054624. 4
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Question Number : 57 Question Id : 68634013826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Trichogramma fasciatum a biological agent 1s used for control of.....
1. Scale Insect
2. Mealy Bug
3. Sugarcane shoot Borer

4. Mango hopper

Options :
68634054625. 1



68634054626. 2
68634054627. 3
68634054628. 4

Question Number : 57 Question Id : 68634013826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054625. 1
68634054626. 2
68634054627. 3
68634054628. 4

Question Number : 58 Question Id : 68634013827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The spider. ticks and mites belong to the arthopod class -

1. Pauropoda

| B

. Unimeria
3. Arachnida
4. Diptopoda

Options :

68634054629. 1
68634054630. 2
68634054631. 3
68634054632. 4

Question Number : 58 Question Id : 68634013827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054629. 1
68634054630. 2

68634054631. 3
68634054632. 4
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Question Number : 59 Question Id : 68634013828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following agrochemical is not banned in India ?

—

. Cypermethrin

[

. Endrin

LF¥]

. Heptachlor
4. Trichloro acetic acid
Options :
68634054633. 1
68634054634. 2

68634054635. 3
68634054636. 4

Question Number : 59 Question Id : 68634013828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634054633. 1
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68634054634. 2
68634054635. 3
68634054636. 4

Question Number : 60 Question Id : 68634013829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An honey bee pollen basket 1s present in.....
1. Fore leg
2. Hind leg
3. Mouth
4. Wing
Options :
68634054637. 1
68634054638. 2

68634054639. 3
68634054640. 4

Question Number : 60 Question Id : 68634013829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054637. 1
68634054638. 2
68634054639. 3
68634054640. 4

Question Number : 61 Question Id : 68634013830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Loose smut can be controlled by.....

1. Soil treatment

b2

. Seed treatment

L¥ 5]

. Chemical spray in standing crop
4. Fertilizer application

Options :

68634054641. 1
68634054642. 2
68634054643. 3
68634054644. 4

Question Number : 61 Question Id : 68634013830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054641. 1
68634054642. 2
68634054643. 3
68634054644. 4

L

Question Number : 62 Question Id : 68634013831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

De-navelling done in which of the following crop?

1. Passion fruit

(B

. Seabuckthom

5]

. Banana

4, Rambutan

Options :
68634054645. 1



68634054646. 2
68634054647. 3
68634054648. 4

Question Number : 62 Question Id : 68634013831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634054645. 1
68634054646. 2

68634054647. 3
68634054648. 4

Question Number : 63 Question Id : 68634013832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following disease was responsible for Irish famine?

1. Late blight of potato
2. Scab of potato
3. Early blight of potato
4. Wart of potato

Options :

68634054649. 1

68634054650. 2

68634054651. 3
68634054652. 4

Question Number : 63 Question Id : 68634013832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054649. 1
68634054650. 2
68634054651. 3
68634054652. 4

Question Number : 64 Question Id : 68634013833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Agricultural Research Information Centre (ARIC) was established by ICAR in which year?

1. 1963

2

. 1967
3.1974
4, 1987
Options :
68634054653. 1
68634054654. 2

68634054655. 3
68634054656. 4

Question Number : 64 Question Id : 68634013833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1963

| )

. 1967
3.1974
4. 1987

Options :
68634054653. 1



68634054654. 2
68634054655. 3
68634054656. 4

Question Number : 65 Question Id : 68634013834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a designated disease in India?
1. Loose smut of wheat
2. Karnal bunt of wheat

3. Sheath rot of paddy

4. Paddy bunt

Options :

68634054657. 1
68634054658. 2
68634054659. 3
68634054660. 4

Question Number : 65 Question Id : 68634013834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054657. 1
68634054658. 2
68634054659. 3
68634054660. 4

Question Number : 66 Question Id : 68634013835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Soil forming factors are - climate. parent material. topography. time and biosphere.
Reason R : Time is an increasingly dominant factor in soil formation.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634054661. 1
68634054662. 2
68634054663. 3
68634054664. 4

Question Number : 66 Question Id : 68634013835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054661. 1
68634054662. 2
68634054663. 3
68634054664. 4

[

Question Number : 67 Question Id : 68634013836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : A set of reactions leading to the formation of a group of soil are called soil forming process.

Reason R : The common soil forming process includes calcification. podzolization. laterization. salination and
alkalization. peat formation.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

-2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634054665. 1
68634054666. 2
68634054667. 3
68634054668. 4

Question Number : 67 Question Id : 68634013836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634054665. 1
68634054666. 2
68634054667. 3
68634054668. 4

[

Question Number : 68 Question Id : 68634013837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :Whiptail is a physiological disorder of cauliflower.
Reason R : The boron deficiency in the soil 1s possible reason for whiptail of cauliflower.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634054669. 1
68634054670. 2
68634054671. 3
68634054672. 4

Question Number : 68 Question Id : 68634013837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 g1 YA (AU T §: U SITUB YT (Assertion A) & &0 I [01Ed § Al THI 3D BIRUT (Reason R) &
30 H:

UBYT A : fEUeT Ber i # g aren Us fhioriiioed fSEs el
®RUIR : J&1 H R & AF1 H HHI 5 Do J f@ucd g5 & 9Riad RS o
SRS Y & 3Tl 1. A9 4T T faehedl I ¥ e SUgad SR &1 99 I |

1. A R R G HE1 & SR R. A D! G| ARAT 3

A SR R EH U8 &, Al R, A D! HE! IR 81 §
3. AT R AR U T ®

4 AT RIS AT R TEI ©

Options :

68634054669. 1
68634054670. 2
68634054671. 3
68634054672. 4

[

Question Number : 69 Question Id : 68634013838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Wheat crop grown in rabi season.
Reason R : Wheat crop needs cool winter, bright sunny days with lower humidity.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634054673. 1
68634054674. 2
68634054675. 3
68634054676. 4

Question Number : 69 Question Id : 68634013838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 g1 YA (AU T §: U SITUB YT (Assertion A) & &0 I [01Ed § Al THI 3D BIRUT (Reason R) &
37 H:

By A T ) T < o 3 g o 2]
PRUIR : T B HUA o 3USga Hiadl, DGR od dTe (& & HIY B 3fledl &I Haadhdl sl ¢
SRS Y & 3Tl 1. A9 ST T fahedl I ¥ e SUgad 3R &1 99 SITo |

1. A R R G HE1 & SR R. A D! G| ARAT 3

A SR R EH U8 &, Al R, A D! HE! IR 81 §
3. AT R AR U T ®

4 AT RIS AT R TEI ©

Options :

68634054673. 1
68634054674. 2
68634054675. 3
68634054676. 4

[

Question Number : 70 Question Id : 68634013839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : A nutrient element is one that is required to complete the life cycle of the plant and its relative
deficiency produces specific deficiency symptoms.

Reason R : Trace clement is an element found in low concentrations perhaps less than one ppm or still less in
plant.

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634054677. 1
68634054678. 2
68634054679. 3
68634054680. 4

Question Number : 70 Question Id : 68634013839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 & YA 40 7T §: TF SITUSUT (Assertion A) & &0 1 [01Ed § T THRI 39% BRI (Reason R) &
SO
SHTUBYT A : DI al BId § [oTP! SHaRIHAl UIell &1 374 slla-Tde 931 B3 oq 61l & HR 531
H g IR Hiel [y qem fia §

BRI R : SHgeA 9@ 9 ad oid & off I el & 1§t om, o1 3o i s aen § v o €
SR BYA & a1, = fSU T e § O U8t S &1 997 Siforg |

1L ARRIAIIIRE IR R AT Gel AT &
2. AR REH TA . AP R. AP ol ARAT ol ©

AT AP R A E

4. AT APTIRIATE

Options :

68634054677. 1
68634054678. 2
68634054679. 3
68634054680. 4

Question Number : 71 Question Id : 68634013840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : According to Fertilizer Control Order. 1957, Biuret content in urea should not be more than
1.5%.

Reason R : Sulphur coated urea is a slow releasing mitrogenous fertilizer.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

-2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634054681. 1
68634054682. 2
68634054683. 3
68634054684. 4

Question Number : 71 Question Id : 68634013840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 YA [4U T §: UF SITUBUT (Assertion A) & &1 I [01Ed § Tl THI 3P BIRUT (Reason R) &
TUH;

HTUBUT A : BleASoR Hroid HIST. 1957 & TR IRATH aISie S AE1 1.5% I feE 761 gl
gl

PRI R : I BIcs gRar 4R I Reflo g1 are1 T30 a3 ¢

TIRIGd YT P ATerE B, e 5T 0 fdwmegi & I Ot SO &1 99 SIfor |
1. ARRIAIIAE IR R AT Gel AT &
ARRIFITUE. Ui R AT T8l AT Tl &

AT UPTR IMA T

-2

4. AT APTIRIATR

Options :

68634054681. 1
68634054682. 2
68634054683. 3
68634054684. 4

Question Number : 72 Question Id : 68634013841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Chloride plays an essential role in stomatal regulation.
Reason R : Soil containing chlorine concentration 2 ppm or less considered low or deficient.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634054685. 1
68634054686. 2
68634054687. 3
68634054688. 4

Question Number : 72 Question Id : 68634013841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA (AU T §: UF SITUB YT (Assertion A) & &0 I [1Ed § Al THI 3D HRUI (Reason R) B
SRR

SHTUBUT A : THET & ool J FRes & 98 YIS 5l o
%fﬁﬂﬂ.%ﬁqqtﬂlaaﬁmm 2.0 Ui.dt.uH. 1 3HYE S B TR Y4l Sl RIRISS S Sl arell &1 Hed
r
SIRITd HYAT & @ 1, i 30 70 fwel § 9 gt SR &1 999 SIfor |
1. ARREFI IUE IR R AP Gel RS &
ASRREA TR, dfFT R A DI Tgl AR ol o

AT UPTR IMA T

-2

4. AT APTIRIATR

Options :

68634054685. 1
68634054686. 2
68634054687. 3
68634054688. 4

Question Number : 73 Question Id : 68634013842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange these Govt. schemes as per their year of Launch / Start (old to new)

A. Panchayati Raj

B. Integrated Rural Development Programm (IRDP)
C. Jawahar Rajgar Yojana

D. Kisan Credit Card (KCC)

E. Soil Health Card

Choose the correct answer from the options given below :
Lo, By 1 B
2B.C.D.EA
€. D B E A
4 D.A.B.C.E

Options :

68634054689. 1
68634054690. 2
68634054691. 3
68634054692. 4

Question Number : 73 Question Id : 68634013842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FfaRgd SRR IorIs B G- TR B & au & 3THR ouaieyd B (G H 70

A. TETH 7 )
B. SUCS X0 SaddHc W (318, 3R.31.d1)

C. STaTER USHIR TioHAT
D. fpar wige &rs (.4t 4t

E. ol W= $ls
- feu T fawenl & 9 Tl ST &1 99+ S

1LABCDE

2B.C,DEA
3.C.D.B.E. A
4.D.A,B.C.E

Options :

68634054689. 1
68634054690. 2
68634054691. 3
68634054692. 4



Question Number : 74 Question Id : 68634013843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these crops according to their water requirement (high to low)

A, Wheat
B. Rice

C. Sorghum
D. Cucurbit

Choose the correct answer from the options given below :
1. C, I, B A
2B.AD.C
3.3D.AB.C
4. B, C, LA

Options :

68634054693. 1
68634054694 2
68634054695. 3
68634054696. 4

Question Number : 74 Question Id : 68634013843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f3T 7T Bl B IP! Wl HTaRIHATHR FAYT D (S Y THH)
ATE

B. YT
C. gReH

D. Feg ol B
- fqu T faseal H 9 Tl IR &1 994 i

1€, 10, Bo A

| ]

.B.A.D.C
3:D.AB, C
4. B, C.D,A

Options :

68634054693. 1
68634054694. 2
68634054695. 3
68634054696. 4



Question Number : 75 Question Id : 68634013844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these methods of irrigation as per minimum water loss (Maximum saving to minimum saving)

A Sprinkler irrigation
B. Surface irrigation

C. Check basin irrigation
D. Ring irrigation

E. Drip trrigation

Choose the correct answer from the options given below :

1LLE.A CD.B

b2

JABC D E
3.8, A, D.C, B
4.D.C.B.A.E

Options :

68634054697. 1
68634054698. 2
68634054699. 3
68634054700. 4

Question Number : 75 Question Id : 68634013844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rars 1 1 775, faférl &1 3% MEar o STaRgSareR oadiedd $< | (STal 994 9 &F g9d)

A (i gr1 s
B. Tde faf¥

C. 9@ 9l fafy

D. &7 fafer

E. fgu fafg

4 fau U faswedl O U el IR &1 994 Siford:

1.EA C DB

b2

LA B LD
3.B.A.D.C.B
4. D.C.B.A.E
Options :

68634054697. 1
68634054698. 2



68634054699. 3
68634054700. 4

Question Number : 76 Question Id : 68634013845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Zn is a constituent of the enzymes carbonic anhydrose (CA). essention for IAA synthesis.
Statement II : Rice 15 a indicator plant of Zn deficiency.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

68634054701. 1
68634054702. 2
68634054703. 3
68634054704. 4

Question Number : 76 Question Id : 68634013845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACI L ACURI
SYT1: HZ.UY & ARG 8 ToiIgH S1a(-1% TTelgigo (H1.0,) 1 fSie U Agayul 3agd g

Y 11 : Y ol Bt S BT S aTa U S=idbe gl gl

SURISd Y & HTaiie 1, H1d 3 7Y fdeedi ¥ I 96 Suga SR &1 99 SIfog:
1. U1 AR I EH Tl &
2. BYUA T AR G TAd §
3. Y1 B! §. A Y 11 7Ted ©

4. BYT17TEd &, AT FUT T Tel &

Options :

68634054701. 1
68634054702. 2
68634054703. 3
68634054704. 4



Question Number : 77 Question Id : 68634013846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Loose smut of wheat is externally seed born disease.

Statement IT : The powdery mildew of wheat is associated with fungi Ervsiphe graminis sp. tritici.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634054705. 1
68634054706. 2

68634054707. 3
68634054708. 4

Question Number : 77 Question Id : 68634013846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSPy RTTUE:
YT T8 J 6 a1aT Il He TP a6 did wd SER1 g
YT : 713 4 517 aIell Urds) Hesy dRI BTN S0% dafa & f2feer 9 dsiasl
SIS Y & HTaile |, i< f3u U fdsedi T I 9 Sugad SRk &1 99 SIfeg:
1. HYT SR 11 S el §
YT 1 IR 11 ST T §
FHYT IS e, AT sy nTed §

Y 1 TeId &, AlhT BYT I Tel ©

| )

LFN]

=Y

Options :

68634054705. 1
68634054706. 2
68634054707. 3
68634054708. 4

Question Number : 78 Question Id : 68634013847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Browning of cauliflower causes due to Boron deficiency.

Statement II : Rice is the indicator plant for Phosphorus deficiency.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ 1s incorrect but Statement II is correct
Options :
68634054709. 1
68634054710. 2

68634054711. 3
68634054712. 4

Question Number : 78 Question Id : 68634013847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumue:

®Y1: Bl I G aTd 1RUA &l G SR AR B b4l 6 ¢ |

PYF 1 : Y- BRHRY $I ST g2 aTd1 Udh Saidbe Uien gl

SWRII HY & 3Tciie H, i fAu U f[ddedl § 9 9a8 Sugdd TR &1 99 SIfeig:

1. U1 AR I EH Tl &
2. BYUA T AR G TAd §
3. Y1 B! §. A Y 11 7Ted ©
4. YT 17Td . Wich B2 1T Hel &

Options :

68634054709. 1
68634054710. 2
68634054711. 3
68634054712. 4

Question Number : 79 Question Id : 68634013848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Downy mildew of Bajra is caused by Selerospora.

Statement IT : Citrus canker (lesions) caused by Xanthomonas compestris.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ 1s incorrect but Statement II is correct
Options :
68634054713. 1
68634054714. 2

68634054715. 3
68634054716. 4

Question Number : 79 Question Id : 68634013848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AR R EURIE

HYT 1 : SOk H §1H aTd 19+ sy &1 581 DRS @l g1

DY : 11§ BT DB (G) BT 5 BRS GY/H PTG

SURISd Y & 3HTalid 1, H1d 2y 7Y fdeedi T 9 96 Uy SR &1 99 SIfog:
1. U1 AR I EH Tl &
2. BYUA T AR G TAd §
3. Y1 B! §. A Y 11 7Ted ©

4. BYT17TEd &, AT FUT T Tel &

Options :

68634054713. 1
68634054714. 2
68634054715. 3
68634054716. 4

Question Number : 80 Question Id : 68634013849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Paddy bunt is caused by Neovossia horrids.

Statement II : Paddy bunt is not a designated disease.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ 1s incorrect but Statement II is correct
Options :
68634054717. 1
68634054718. 2

68634054719. 3
68634054720. 4

Question Number : 80 Question Id : 68634013849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry fRRumue:

U1 : YH & ¢ P 6H B BRSPS F919a7 5ISTE |

HYT I : 419 b1 69 URd DI Y@ SHRI 51 5 |

QWIS HY & 3Talie H, i fAu Y f[ddedl § 9 a8 3ugdd TR &1 99 SIfeig:
1. BYT1 AR 11 ST T8T §
2 HYFI ARSI Tad &
3. PYF I el 8. AfpT HyT 1 Tad €

4. BYT17TEd &, AT FUT T Tel &

Options :

68634054717. 1
68634054718. 2
68634054719. 3
68634054720. 4

Question Number : 81 Question Id : 68634013850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Root nodules of leguminous crops fix the atmospheric nitrogen.

Statement II : Plant can fix the P and K from the atmosphere also.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement [ and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634054721. 1
68634054722.2
68634054723. 3
68634054724. 4

Question Number : 81 Question Id : 68634013850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RICACURI e

PYF 1 : Gale-l B DI ofe araraul I Fau &1 RS0 Sl B
Y 11 : Gie IIAE0r 9 p 3R K &7 i i ox 9ad 5

QRIT] BYF & ATdid 4, 4 [SU U [dF e © U Uel IR &l 999 DISI:

1L BYFEIAR IS IT B
2 HYF1 AR GHT A S

3. PUTI I e, AP PYT I IFT ©

4 PYTI I, AT P I TT B

Options :

68634054721. 1
68634054722. 2
68634054723. 3
68634054724. 4

Question Number : 82 Question Id : 68634013851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Hydraulic conductivity of soils varies directly with the total porosity.
Statement II : Soil texture concerns with particle size distribution.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement [ and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634054725. 1
68634054726. 2
686340547217. 3
68634054728. 4

Question Number : 82 Question Id : 68634013851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl By Ry U B

HYF1: Jal ol cled URIRE & IR glgsiice susfaeiad! o ggad! gdl o
HY 1 : &1 B WA 3YD DU & PR 3R G0 § Faf2d g

SWRIGd DY & 3Tl H, A 4T 7T fadedi # 8 el Ik T 98- Pifie:

1L BYFEIAR IS IT B
2 HYF1 AR GHT A S

3. PUTI I e, AP PYT I IFT ©

4 PYTI I, AT P I TT B

Options :

68634054725. 1
68634054726. 2
68634054727. 3
68634054728. 4

Question Number : 83 Question Id : 68634013852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Tamarind fruit is botanically a achene.

Statement II : Bael 1s a good source of riboflavin.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement [ and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634054729. 1
68634054730. 2
68634054731. 3
68634054732. 4

Question Number : 83 Question Id : 68634013852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRy fRRumue:

PYT1 : IHA P B aMGH ¥9 I TF THI &

HYT I : 9 O AZaITRAS bt YR HEAT TR STl 6 |

IR BYH o ATl H, Hid [SU U f[dbedi § U el 3R Pl 99 DIl

1L BYFEIAR IS IT B
2 HYF1 AR GHT A S

3. PUTI I e, AP PYT I IFT ©

4 PYTI I, AT P I TT B

Options :

68634054729. 1
68634054730. 2
68634054731. 3
68634054732. 4

Question Number : 84 Question Id : 68634013853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Water melon fruit is the richest source of iron among cucurbits. It contains about 92% water. 7%
carbohydrate and 0.2% protein.

Statement IT : Aonla is a rich source of vitamin D.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634054733. 1
68634054734.2
68634054735. 3
68634054736. 4

Question Number : 84 Question Id : 68634013853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g1 Py feu MU &

HYT1: FHUGCH DA &b oRee B U @lIg ded DI T al 9 il ol 81 S9H 92% UL 70%
UG 0.2% YICIH YR STl 6 |

HYF 11 : SHfaar H e St vatfie T & uar s g |

SWRIdd BYF & 3l H, =< 4T T fddbedi & I Hel Gov & 99 Difoie:

1L BYFIAR IS TT B
2 HYF1 AR GHT A S

3. PUTI I e, AT HUT I IFT ©

4 PYTI I . AT P I T B

Options :

68634054733. 1
68634054734.2
68634054735. 3
68634054736. 4

Question Number : 85 Question Id : 68634013854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Banana plant give fruit only once in its lifecycle

Statement II : Most important disease of banana in India 1s 'Sigatoka leaf spot',

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement [ and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634054737. 1
68634054738. 2
68634054739. 3
68634054740. 4

Question Number : 85 Question Id : 68634013854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RICACURI e

PYT 1 : bl DI Gl 9= SigThTd § Hdd UP IR of Bd Sal gl

Y1 : HRA H ol B G 4RI RAEST di% wie g |

JWRIGd BYH o ATl H, Hid [SU Y f[dbedi § U Tel 3R Pl 99 DL
1L BYFEIAR IS IT B
2 HYF1 AR GHT A S

3. PUTI I e, AP PYT I IFT ©

4 PYTI I, AT P I TT B

Options :

68634054737. 1
68634054738. 2
68634054739. 3
68634054740. 4

Question Number : 86 Question Id : 68634013855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement

A. Dwarf mutant cultivar of papaya is "Pusa Nanha'.

B. Pusa early dwart is variety of strawberry.

C. Nendan and Rasthali are variety of banana.

D. Durgapur Meetha, Durgapur Kesar are improved variety of water melon.
E. Rose supreme. the Happy end are the variety of chrysanthemum.

Choose the correct answer from the options given below :

1.A.B.C,D.E only

[ ]

.A . B.C.Donly
3.A.B.C.E only

4. A, B. C only

Options :

68634054741. 1
68634054742. 2
68634054743. 3
68634054744. 4

Question Number : 86 Question Id : 68634013855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e BT BT 1d B

Sl gditd @ ST Tee yonfd g1
T Srdfgard T 1 Jolifd g
Wﬁ??@ﬁﬁ P Y It 8
TR TS 3R TR HER TGS BT YR Fommirdi
XISt o g &l $0° erarad] B et €|

=it fa T [9oredl ® 9 9ol SR &1 90 S
1.$du A, B,C.D,E
2. $dd A, B, C.D
3. Bdd A, B.C.E
4. PdUA.B.C

m;ﬂnm:c*

Options :

68634054741. 1
68634054742. 2
68634054743. 3
68634054744. 4



Question Number : 87 Question Id : 68634013856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements :

A. Wheat shown when temperature falls between 22 - 23 °C.

B. Sowing of wheat at 25°C reduces the tillering.

C. For late sowing seed rate required (@ 125-150 kg / ha.

D. Under rainfed condition seed rate required (@ 150-200 kg / ha.

E. The seed of semi dwarf varieties should not be placed below 4-5 cm depth.

Choose the correct answer from the options given below :
1.A.B.C.E only
2.B.C.D.E only
3.C.D.E. A only

4.D.E.A. B only

Options :

68634054745. 1
68634054746. 2
68634054747. 3
68634054748. 4

Question Number : 87 Question Id : 68634013856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e DU BTG BY:
A, TIE 31 f9oTT8 8 SUga aIaH 22-23 °C ST 5
B. 25°C & dI9qH GR TG B [§alTg e Heba H 1 Bl ¢
C. g # R U 4l 8 divar 125-150 kg Ul 8. B
D. g9 SHTETRA Wl F g 1 dlola 150-200 ke Wid 59, A1 6|
E. BIcl/Sarh wailladl &l [6els oq ais &l S 4 4-5 301 I =< 9! aIH1 g Ul
=i fau 0 f[daredl | ¥ Uel 3R &1 904 BIoig:
1.®ad A, B.C.E
2. %dd B, C,D.E
3.$dd C,D.E.A

4. HaAD.E.A.B

Options :
68634054745. 1



68634054746. 2
68634054747.3
68634054748. 4

Question Number : 88 Question Id : 68634013857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01l seed crops includes

A. Groundnut
B. Mustard
C. Sunflower
D. Castor

E. Lucerne

Choose the correct answer from the options given below :
1.A.B.C.D.E only
2.A.B.C.Donly
3.B.C.D.E only

4.C.D.E.Aonly

Options :

68634054749. 1
68634054750. 2
68634054751. 3
68634054752 4

Question Number : 88 Question Id : 68634013857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=it fau T faoredl # 9 Hel SR &1 90 DI
1.$PdUA.B.C.D.E
2. $de A, B.C.D
3. P4 B.C.D.E
4. $aU C,D.E.A

Options :

68634054749. 1
68634054750. 2
68634054751. 3
68634054752. 4

Question Number : 89 Question Id : 68634013858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Micronutrients includes

A, Cu
B.Fe
C.Ca
D.B
E. Mn

Choose the correct answer from the options given below :
1.LA.B.C.D.E only
2.A.B.D.E only
3.A,B,C,D only

4 A.B.C.E only

Options :

68634054753. 1
68634054754. 2
68634054755. 3
68634054756. 4



Question Number : 89 Question Id : 68634013858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& Il (Aemafeuey) ¥ i B

A. Cu
B. Fe
C.Ca
D.B

E. Mn

- fau T fowedl # 9 Hel STR &1 704 S
1.$dd A.B.C.D,E
2. $dd A, B.D,E
3. $dU A, B.C.D
4. 9dd A, B.C.E

Options :

68634054753. 1
68634054754. 2
68634054755. 3
68634054756. 4

Question Number : 90 Question Id : 68634013859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct complex fertilizers

A. MAP - Mono Ammonium Phosphate

B. MOP - Muriate of Potash

C. APSN - Ammonium Phosphate Sulphate Nitrate
D. UAP - Urea Ammonium Phosphate

E. DAP - Diammonium Phosphate

Choose the correct answer from the options given below :
1.A.B.C.D only
2.B.C.D.E only
3.C.D.E. A only

4.D.E.A.B only

Options :

68634054757. 1
68634054758. 2
68634054759. 3



68634054760. 4

Question Number : 90 Question Id : 68634013859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST U BicagoR ol gA1d P

A THUYL - 9FT 3HI-gq BRbE
B. TH.3f1.41. - FIRTE St grefe
c. T uq.TA. - 3ifH BRibe Uelbe A1gee
D. g Ut - gRan sHifaH e
E. SIU. - SEemif-ay BRibe
14 few 7 fawedl 8 9 Uel IR &1 994 S
1.$BddA.B.C.D
2. $ddB.C,D.E
3.%dd C.D.E. A

4. PAAD.E.A. B

Options :

68634054757. 1
68634054758. 2
68634054759. 3
68634054760. 4

Question Number : 91 Question Id : 68634013860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Purpose of extension evaluation....

A. To identify the weak point
B. To identity the strong point
C. To identify the gaps and errors
D. To complete the duty only
Choose the most appropriate answer from the options given below :
1. A.B. C only
2.A.B.C.Donly
3.B.C.D only
4. C,D. A only

Options :
68634054761. 1



68634054762. 2
68634054763. 3
68634054764. 4

Question Number : 91 Question Id : 68634013860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & (L1801 31 35=T ©:
A. BHCIR g3t BT ggar H1
A T o e e
D. Tl Bl GRT BT
1 fau U faeed! 9 Y UG SR 1 99 BT
1.9dU A, B.C
2. HAdA.B.C.D
3. $4dB.C.D

4. PAAC.D. A

Options :

68634054761. 1
68634054762. 2
68634054763. 3
68634054764. 4

Question Number : 92 Question Id : 68634013861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Success of Rural Development Project depends upon -
A. Regular training of workers
B. Regular contact of workers
C. Amount of subsidy given to beneficiaries
D. Participation of beneficiaries
Choose the most appropriate answer from the options given below :
1. A B.D only
2. A B, Conly
3.A.C.Donly

4. A B.C.D only

Options :



68634054765. 1
68634054766. 2
68634054767. 3
68634054768. 4

Question Number : 92 Question Id : 68634013861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A SadyHe Hiolae &1 G gl §eia: R gidr o

A YEH] & TAR U0 gRI
B. 4% T TR 9® §R

c. feduiedl &I 51 o ardl Afeds! &1 °HE] R
D. fequniedl & ggHIfiar grI

2 fau e fasred § & 9ad Sugad S &1 999 BT
1. Had A.B.D
2. PAUA.B.C
3.PadA.C.D
4. PAUA.B.C.D

Options :

68634054765. 1
68634054766. 2
68634054767. 3
68634054768. 4

Question Number : 93 Question Id : 68634013862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. SFDA was established in the year1971-72.

B. SFDA was established on recommendation of Villages Development committee in year 1965.
C. The aim of SFDA was to identify the problems of small farmers.

D. Under fourth Five Year Plan Rs. 68 carore were allocated for SFDA.

Choose the most appropriate answer from the options given below :

1.LA.B.C.D only

| )

.A.C.D only
3.B.C.Donly

4. C.A.B only



Options :

68634054769. 1
68634054770. 2
68634054771. 3
68634054772. 4

Question Number : 93 Question Id : 68634013862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el DY BT 1

A T UG S0 BT 764 ay 1971-72 § fdar mar uii

B. TH.UB. 1.0, B T34 AHIU [aarT 9iffd 1965 & Tdrs O o |
C. TUUW. B0 &1 3e2d Bic [BUFl & Il &I ggar=-1 4Tl

D. 1Y U=aulg Do § &. 68 BS T.UH. 81U, B fdfed fhu |

2 fau T fased § & 9ad Iugad S &1 99 B
1.$AdA.B.C.D
2. PaU A, C.D
3.$ddB.C.D
4. HAUC.A.B

Options :

68634054769. 1
68634054770. 2
68634054771. 3
68634054772. 4

Question Number : 94 Question Id : 68634013863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |Asparagus I. Araceae
B. |Colocasia II. Jcompositae
C. [Lettuce II1. [Liliaceas
D. [Radish IV. |[Cruciferae

Choose the correct answer from the options given below :

1. A-I. B-III. C-IV. D-1

| ]

A-IILL B-1, C-ILL. D-IV
3. A-L. B-I1. C-III, D-IV
4. A-IV. B-1I. C-I11, D-I

Options :

68634054773. 1
68634054774. 2
68634054775. 3
68634054776. 4

Question Number : 94 Question Id : 68634013863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% I gl 11 BT i Sifeg
Tt 1 T
A [T 1. g3t
B. [plaipfimr | o [emiferet
C. [cem 111 [feferadl
D. [Feit IV. [
i fau 71U faedl © ¥ gl 3R &1 90+ DifulU :

1. A-I. B-III. C-IV. D-1

| o

A-IILL B-1L C-I1, D-IV
3. A-1. B-II. C-III. D-IV
4. A-IV. B-11, C-111, D-I

Options :

68634054773. 1
68634054774. 2
68634054775. 3
68634054776. 4



Question Number : 95 Question Id : 68634013864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Mandarin orange] 1. [Heavy drop of flovwers and fruits|
B. Jamun II. [Spongy tissue
C. Mango IT1. [Decline
D. [Potato IV [Hallow heart

Choose the correct answer from the options given below:

1. A-II. B-I1I. C-1. D-IV

| )

A-IV, B-1I, C-III. D-1
3. A-IIIL, B-1, C-II, D-IV
4. A-IV. B-11. C-I, D-III

Options :

68634054777. 1
68634054778. 2
68634054779. 3
68634054780. 4

Question Number : 95 Question Id : 68634013864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 & 1Y gl 11 1 fiaH Sifee
TqaAT T g I
A [FEH NS | L [l ud Bl o shrel FRA]
B [SHA 1L [Egisi foeg
ol B I1L. [Saie
D. [ IV. [geiige

=i fu 70 fdaredl § ¥ Ool 3R &1 90+ DI -

1. A-IL. B-I1I, C-1. D-IV

| ]

. A-IV, B-II, C-I1II. D-1
3. A-II1. B-1, C-I1. D-IV
4. A-IV, B-I1, C-1, D-III

Options :

68634054777. 1

68634054778. 2
68634054779. 3



68634054780. 4

Question Number : 96 Question Id : 68634013865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |White revolution I |Over all development of Agriculture sector]
B. [Brown revolution | II. |Use of digital technology
C. |e-revolution 111 [Fertilizer
D. [Rambow revolution| IV. [Milk

Choose the correct answer from the options given below:

1. A-L. B-II. C-IV, D-III

| E)

A-IL B-1, C-III. D-IV
3. A-TIV. B-1II. C-I1, D-I
4, A-L. B-II, C-III, D-IV

Options :

68634054781. 1
68634054782. 2
68634054783. 3
68634054784. 4

Question Number : 96 Question Id : 68634013865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91U gt 11 91 fiaE eifeg

T I T 1T
A [Rgd wifd L [®f & 9 Jaod | [9o™ eq
B. [\ @ifd 11 [SfSiee da-io| & UaiT &g
c. E-wifd 111 [543 &g
D [FEi®id |1V [gUEd

A feu 7Y fawedt # ¥ Hel 3R o1 90 S -

1. A-I. B-II. C-IV, D-III

| ]

. A-IL B-1, C-IT1. D-IV
3. A-IV, B-IIL. C-II D-I
4. A-1. B-II. C-III, D-IV

Options :
68634054781. 1



68634054782. 2
68634054783. 3
68634054784. 4

Question Number : 97 Question Id : 68634013866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
A |Carbon I. [Nitrogen fixation
B. [Nitrogen 1. |Basic structural function
C. |Phospharus III. [Energy transfer
D. Molvbdenum | IV. [Vegetative growth

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| ]

AL B-I1, C-IV, D-1

L]

CA-L B-IL. C-III, D-IV
4. A-IV. B-1I. C-I11, D-I

Options :

68634054785. 1
68634054786. 2
68634054787. 3
68634054788. 4

Question Number : 97 Question Id : 68634013866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% I gl 11 BT i Sifeg
Tt 1 T 1
A [BlEA 1. e R
B. [{A9d I [9EF S§EAHS
C [FEHRY 1L [3oll 2y
D [{iftee® |1V [grwu® gia

- fau 7Y fawedt & ¥ Hel ST o 90 S -

1. A-II. B-IV. C-III. D-I

| o

A-IIL B-I1L C-IV, D-1

3. A-1. B-II. C-III. D-IV

4. A-IV. B-11, C-111, D-I



Options :

68634054785. 1
68634054786. 2
68634054787. 3
68634054788. 4

Question Number : 98 Question Id : 68634013867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Cross protection| 1. |Rhizactonia solowni
Parasexual cyclel II. |Endothia parositica
Hyponirulence | I |dspergillus nidulens
. |Anastomosis IV |Tobacco mosaic virug

o] fo] [o=] =g

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

A-IV, B-I, C-I11I, D-I1
3. A-IV. B-IIL. C-II. D-I
4. A-IT, B-II1, C-IV, D-I

Options :

68634054789. 1
68634054790. 2
68634054791. 3
68634054792. 4

Question Number : 98 Question Id : 68634013867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1% I gl 11 BT i Sifeg

G 1 T I
A [B1d UIcRE 1 |erEwilider Tielrg
B. [ORE@RIT Usidd| 1L [g=iidar feiaiea]|
C. [ErEUaEsy 11 [o&folarg g5y
D. [Eare iy IV. [ld®! Hiv® argy
-9 fau T foe el & ¥ Tl SR &1 99 HIf -

1. A-I. B-II. C-III. D-IV

| o

A-IV, B-I, C-III, D-I1
3. A-IV. B-III. C-II. D-I
4. A-I1. B-III. C-IV. D-I

Options :

68634054789. 1
68634054790. 2
68634054791. 3
68634054792. 4

Question Number : 99 Question Id : 68634013868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
. [Nano liquid urea I. |Rhizobium
Svmbiotic nitrogen fixer] II. IFFCO
Non-svmbiotic N-fixer | Il |Azotobactor
. [Vermi compost IV |[Earthworm

wl o] =] i

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

A-IL B-1. C-III, D-IV

L

. A-IV. B-III. C-1II. D-1
4. A-IT, B-II1, C-IV, D-I

Options :

68634054793. 1
68634054794. 2
68634054795. 3
68634054796. 4



Question Number : 99 Question Id : 68634013868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & WY G 11 D1 e Sifee
T I T I
A |41 fafeas gian M EEIERE
B. [girgiics gcled R | IL Ul
C. [ Toitagiid® Areeia- Mhar| 1L [Telidaey
D. [qHi e IV, [

=i fu 70 fdaredl § ¥ Ool 3R &1 90+ DI -

1. A-I. B-II. C-II1. D-IV

| ]

A-IL B-1, C-III. D-IV
3. A-TV. B-1II. C-I1, D-I
4. A-I1. B-III. C-IV, D-I

Options :

68634054793. 1
68634054794. 2
68634054795. 3
68634054796. 4

Question Number : 100 Question Id : 68634013869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Model I. |Group contact
B. [Slide II. Pass contact
C. |Telephone I11. |Personal contact
D. |[Trysem IV, |Self emplovment for rural youth|

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

| E)

A-ILL B-1III. C-I. D-IV
3. A-L. B-II. C-III. D-IV
4, A-I1, B-II1. C-IV, D-I

Options :

68634054797. 1

68634054798. 2
68634054799. 3



68634054800. 4

Question Number : 100 Question Id : 68634013869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% 91U gt 11 91 fiaE eifeg
T I T II
A [ATsq i PeEseCT
B. [3 1. [A19 9O
c. [efemE 1L [eaidrTd agd
D. [er54H IV. [ SFREHE BR T30 Y
i< fou 7Te faweyl © § el SR &1 90+ HIfuIT ;

1. A-II. B-IV. C-1, D-I1

| ]

. A-ILL B-1II., C-1. D-IV
3. A-1. B-I1. C-III. D-IV
4. A-I1. B-III. C-IV. D-I

Options :

68634054797. 1
68634054798. 2
68634054799. 3
68634054800. 4



